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. a) Explain the following concepts;

I Management (2mks)
ii. Accounting (2mks)

iii. Insolvency (2mks)
iv. Accrued expenses (2Zmks)
v. Prudence (2mks)

b) A sports club has kshs. 14000000 in long term debt capital and kshs.
23000000 in cquity capital. The club can borrow until its debt ratio is 50% of total

capital. What is the clubs’ unutilized borrowing capacity? (6mks)

¢) Creative leisure limited has 1200000 ordinary shares of kshs. 5 per value, a
share premium reserve of kshs. 3500000, and a retained earnings reserve of kshs.
8500000. The company declares a dividend of 20% per share payable from
retained carning reserves at a time when market value of the share is kshs. 42 per
share. Prepare the equity section of a balance sheet after the payment of dividends.

(14mks)

Malaika investments had the following four years cash flows with the preferred

rate of return of 12% for the year ending December 2022. Calculate;

a) Net present value (4mks)
b) Present value (4mks)
¢) Internal rate of return (6mks)
d) Profitability index (2mks)

¢) Discounted payback period (4mks)
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Evaluate on FIVE assertions auditors arc concerned when oblaining audit
evidence from substantive procedures. (20mks)

a) Expound on FIVE different types of budgets in sports. (10mks)

b) Expound on FIVE components of a budget in sports and recreation activities.
(10mks)

a) Kakamega sports club has the cash outlay of kshs. 400,000/= at the start of the
business with net cash inflow of kshs. 200,000/= at the end of year 1 and kshs.
100,000/= at the end of year 2 and kshs. 300,000/= at the end of year 3 with

interest at 15%. Calculate;

payback period (2mks)
internal rate of return (4mKks)
present value (2mks)
net present value (2mks)

(b)Explain FIVE types of financial ratios used in sports (10mks).






